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dependent perturbation theory

° Heisenberg
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. 1st order time-dependent perturbation theory
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Heisenberg 's equation of motion

Interaction picture :
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Perturbation theory :

Reminder time - independent perturbation theory :

. get approximate eigenstates and eigenvalues .

Time - dependent perturbation theory :
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Example : harmonic perturbation
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1st term : absorption of a
" photon "

2nd term : emission of a
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photon"

why ?

Semiclassical since we didn't treat the field
of uantum mechanically here .
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Exercise 2 for bit more . . .



Example on Heisenberg formalism : harmonic oscillator
Cmainly for curiosity )

Hamiltonian : It -
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In fact all 41%105 and Lal Polo ) must vanish
since they are associated with ein wt phase

. factors
that cannot be there .
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so we could figure out cigar energies and quite a bit
about  matrix element starting from Heisenberg 's
equations of motion .


